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FACTORING ax? + bx + ¢ Factor the trinomial. If the trinomial cannot be

EQUATIONS NOT IN STANDARD FORM Solve the equation.
factored, say so.

: . . 74,32 +9x = =20 @62 =8:-1

35. 2"+ 7x + 3 36. 3x" + 17x + 10 @&\" + 18x +9 , N

38. 52 —Tx + 2 39. 62 —9x+5 40. 1007 — 19 + 6 e 5”: TE s 7.2 - dy=8= by

413K+ 32% — 11 42. 1 + 14m — 16 43. 1872 + 90 — 14 78.2¢ +4g—1=7¢' ~Tq + 1 79. (v + 6 = 3w +12) = w?

44. T —d4u—3 45,12 —25v — 7 46. 4w? — 13w — 27

EQUATIONS IN STANDARD FORM Solve the equation.

65. % —3r—4=0 66. x>+ 19x + 88 = 0 @5.\*2—]3x+6=0

68. 82— 6x—5=0 69. K2+ 24k + 144 =0  70.9m*> —30m+25=0

71. 810 — 16 =0 72. 40a* + 4a =0 73. =30 +3b+90=0

Pg. 349

SUM OR DIFFERENCE OF CUBES Factor the polynomial. CHOOSING A METHOD Factor using any method.

33.0° -8 G)e + o4 35.216x° + 1 125.\J -3 59. 18 — 22+ 27x — 3 60. 6 + 21 + 15x 61. 4x* + 392 — 10
37. 1000° +27 3827 + 216 39.32° — 4 40. 20 + 54 62.8°3 — 122 —2r+ 3 63.8° — 64 64. 3x* — 300x2
GROUPING Factor the polynomial by grouping. 65. 3x* — 24x 66. 5x* + 312 + 6 67. 3x* + 9 + 2% + 3x
M.+ +x+ 1 42,105 + 202 +x+2 43,5+ 3x2 + 10x + 30

44. % — 2% + 4x— 8 45. 2 —5x* + 18x —45 46, —2° —4? —3x— 6

47.38° — 6 +x -2 48.2¢ — X2+ 2x — 1 ‘3.€ -22-9x+6




